S RE =
Fis] [ SRR | TRENE e $%§§ S8 ﬁj
il 66 3 B 3 %82
prAnE B e 6.5 3 1.6 2 750
B 2 T 66 26 19 27 930
E SABH ™7 gt 6.6 3 2 3.8 908
O 6.5 33 I8 32 974
SHIH 155 i en 6.5 33 1.8 3 9815
T 6.5 32 I3 21 946.5
spise (B 6.5 3.4 2 24 817
it e (G e [0S R
BEGA 6 P 038 T 5%
ISEt 45 2 08 1 a0
JE A 5.5 2 0.5 3.5 665
PR 45 2 05 2 375
o | A 55 o3[ 35| ens
fé; VeSS 5.5 2 0.8 35 7125
E': 4L EEFE AN 5.5 2.5 1 28] 736
KLBEFE NS 4 2.5 1 2.8 631
b B 6 2 08 35| 7475
AR 6 3 08 23] 9035
e 38 s 05 3 506
Yo 4 P 05 5| 470
PR 4 P 05 15| 480
R 62 3 05 5o 952
N (=3 et B
B SRIE [T aENE (e ﬁ%ﬁ% ﬂ%ﬁiﬁ}
ER K I = 1 A 26 15 02 23] 05| 5315
gi%ﬂﬁﬁﬁﬂ$ﬁ+@% 18 ) 02 o o0s| am
x [ R SRR A 32 25 02 23] 05| 6435
B E84ME EENS 48 3.3 3 0.2 3 657
EBS. T LKBEUME 128 14Tk 4 3 06 B 665
BB T TKEKD 18 4L 6 45 0.9 1.8 959.5
EE6ITvE M EEH + A5 3.6 0 0 2 418
— R T s A
Fi] EEE Bl = %%*ﬁgé%ﬁ;mﬁﬁigiﬁiﬁﬁ\wi
O fgii&w gn | wEeE | dwes | o gg i 12 ; iié
o e T sz = MR | SHOE | A@HT | B P e B o
& Rifa
S éﬁﬁzimﬁig WL | EETE | BRI | S 22 gi 1: 3? 989172
=
sise B ;;me WEML | AT | Wl | SO o o

ek - RARRS AEERAGER : 28)

ERAEAS




